2 BB BITHETAT B AZR DR

X 4y 29 A B 30 (= B
BoR A IOA | RONR[HEEE| A B | OSR | AR
w BG:| B | 97,944, 777 101.5 | 97.3 | 98,955,732 | 101.0 | 97.3
EoFE % @ 97,944, 777 101.5 | 97.3 | 98,955,732 [ 101.0 | 97.3
mooET R R OBL | 43,340, 856 102.7 | 43.0 | 44,596,468 | 102.9 | 43.8
(N B 1, 207, 708 101.1 1.2 1,215,719 | 100.7 1.2
B 5 # | 32,614,068 100.9 | 32.4 | 32,912,357 | 100.9 | 32.3
FES N R | 2,334, 272 103. 4 2.3 2,341,807 | 100.3 2.3
=N B H 7, 184, 808 111.6 7.1 8,126,585 | 113.1 8.0
EOE E BL | 47,277,694 101.1 | 47.0 | 47,104,606 | 99.6 | 46.3
i T ' E M 46, 822, 679 101.1 | 46.5 | 46,653,193 [ 99.6 | 45.9
+ # | 15,181,065 99.4 | 15.1 | 15,122,776 | 99.6 | 14.9
e B | 21,068,221 102.6 | 20.9 | 20,906,188 | 99.2 | 20.5
B ® & 10, 573, 393 100.8 | 10.5 | 10,624,229 | 100.5 | 10.4
&z ¥ & 455, 015 99. 2 0.5 451,413 | 99.2 0.4
#H £t & — — — — — —
B B # & il 2, 381, 787 103.5 2.4 2,448,301 | 102.8 2.4
B OBE M AR - - - — - -
@g%%gj &F}b?fﬂ 2, 381, 787 103.5 2.4 2,448,301 | 102.8 2.4
DI e = S 7 4,939, 881 94.7 4.9 4,801,427 | 97.2 4.7
£/ FE B 2,259 159. 8 0.0 2,630 | 116.4 0.0
R | e ol O S S 2, 300 100.0 0.0 2,300 | 100.0 0.0
% oFE A F oE B 0 0.0 0.0 0 0.0 0.0
H A B 2,732, 544 100. 7 2.7 2,782,816 | 101.8 2.7
A % Bl 43,571 95. 1 0.0 42,546 | 97.6 0.0
#ood F o om B 2, 688, 973 100. 8 2.7 2,740,270 | 101.9 2.7
AKOFH H 2§ Bl 0 0.0 0.0 0 0.0 0.0
H % & X % Bl 0 0.0 0.0 0 0.0 0.0
= # | 100,677, 321 101.5 | 100.0 | 101,738,548 | 101.1 | 100.0




(HAL - TH, %)

It A FE 2 s

e
w

F J

A B | ROMR [ RERREL | M A B | OSSR AR A A B | ROER | ARk

98, 478, 861 99.5 97.2 97,764, 515 99. 3 97.3 97, 580, 740 99. 8 97.3

98, 478, 861 99.5 97.2 97,764, 515 99. 3 97.3 97, 580, 740 99. 8 97.3

43, 583, 948 97.7 43.0 42, 506, 250 97.5 42.3 43,152,103 101.5 43.0

1, 205, 753 99.2 1.2 1, 211, 160 100. 4 1.2 1, 206, 240 99. 6 1.2

32,910, 315 | 100.0 32.5 33, 143, 426 100. 7 33.0 32,812, 115 99.0 32.7

2, 309, 085 98. 6 2.3 2, 348, 582 101.7 2.3 2,380, 612 101. 4 2.4

7,158, 795 88.1 7.1 5, 803, 082 81.1 5.8 6, 753, 136 116. 4 6.7

47,505,436 | 100.9 46.9 47,938, 003 100.9 47.7 46, 741, 940 97.5 46. 6

47,052,280 | 100.9 46.5 47, 487, 825 100.9 47.2 46, 289, 122 97.5 46. 2

15, 101, 980 99.9 14.9 15, 000, 786 99.3 14.9 14, 948, 195 99.7 14.9

21,391,832 | 102.3 21.1 21, 800, 642 101.9 21.7 20, 916, 933 95.9 20.9

10, 558, 468 99. 4 10. 4 10, 686, 397 101. 2 10.6 10, 423, 694 97.5 10. 4

453,156 | 100.4 0.4 450, 178 99. 3 0.4 452, 818 100. 6 0.5

2,536,440 | 103.6 2.5 2,673,111 105. 4 2.7 2,726,178 102. 0 2.7

21,720

If
)
IH
o
=

83, 944 386. 5 0.1 90, 721 108.1 0.1

2,514,720 | 102.7 2.5 2, 589, 167 103.0 2.6 2,635, 457 101.8 2.6

4,849,012 | 101.0 4.8 4, 644, 692 95.8 4.6 4,958, 156 106. 7 4.9

2,b11 95.5 0.0 2,459 97.9 0.0 2,363 96. 1 0.0
1,514 65. 8 0.0 0 0.0 0.0 0 0.0 0.0
0 0.0 0.0 0 0.0 0.0 0 0.0 0.0

2,809, 134 | 100.9 2.8 2,762,116 98. 3 2.7 2,712,110 98.2 2.7

44,076 | 103.6 0.0 27, 430 62.2 0.0 29, 484 107.5 0.0

2,765,058 [ 100.9 2.7 2,734, 686 98.9 2.7 2,682,926 98. 1 2.7

0 0.0 0.0 0 0.0 0.0 0 0.0 0.0

101, 287, 995 99.6 | 100.0 | 100, 526, 631 99.2 | 100.0 | 100, 293, 150 99.8 | 100.0




